— NHT= 0 O EEE BN A T-IL5E:

1

11 — A=Y DHSEEER H-ILTE
—4TERERTR—

25
By 20 © \\‘\’
2
15 F
10 F
5 L
0
- 12FM% | 12FM~ | 15FA~ | 18FMALL
— A\BY DAt EE
(T j 15FFK | 18FFER| £
—— FEEIDEREMER- | 2272 | 17.486364 |15.784545| 14.6725
FAHIY
K12 —ABI-YDHEHEER A I0FER B3 — At DHEBEER AT
—— ANBt-YDERFHEHT & | DERFFE— —— NI = DIERFSAT R0 | OERFE—
30 25
s 25 1 !I:%{- 20k o\‘\‘
e 20 f ‘\\ 2
x 15 L
15 |
10 10
5 5 F
2 11FM~15 0
J— —L =7 . ~ N ~
Aﬁz%.};)igf;&ﬁﬁ NFARE | o | 15FALE _M’f;?mr’ffﬁ% TR 1121 _%54 {SFFILLE
—— FEEIOER4NM: | 24.22333333| 2361 172775 —— FEETSRAMEL | 2071 18215 16.9725
- FAHIY FAHIY
X4 —AFYOEEEER FH A TeE BH5 — A3 YO <4 J0ges
— N DEEFRSHY RO IDE— — NG DEEFRSHIV BRI DE—
% o 20
B B
0 T |
Emy /\ D 15
S 15F
10 |
10 F
5 51
—_ —_ =
A | s | WFRTT] FRAE || | SR s [14F~16T 16T
—— FIFIERRNE: | 1581333333 20206 1507333333 — FEROEENE 1695 115475 1298
#TAH) TG




=

16 —AHrUYDHEH

ZRIH =L EE

B
_l—-ﬁ.x_
)1 B 695
i 20 F
19 |
18 |
17 F
10 6F M |6F 8 F 10F | 12F
TABRUOHRBER x5 |sFm | 10F |~12 AMLE
—e— L EE (F |20432(20.177 2013 |17.808|17.505
Abf-YH
)

17 FLELRMERBICHT-HHEBBEELERE
FH -47 & E TR —
30
25 ‘\/o—o
20
15 ./I———I/.
10
5 L
) ‘ . —— ERE— bl
L) =]
- & & )RR 155
QS<\l\r < < <5 =
IS S RS R A
o o By FH(R-
N N
TETA) 1I5EE
FAHEYRGEIL B G2
18 FLEILBDMEHANH-HEHBTELELERE
— 44 ER(REER . KA. REF R —
FH
30
25 ‘—_‘/_/Q———O
20
15 F ./I—I/.
10
5 |
0 o o ——ZERE— AHI-
Y S & % YU-FA(R)155F
& & & &
v oV P N —m—HEEHFE-—A
N > Hi=Y-FH(E-
F A B =YD BT A1) 155 &




